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[1] PCB¥H nd %220 K660
[1-1]€/ 78R b7 ==/l tr(0.3) 0.3 0.8
[12] Y7 v b7 ==/l tr(5) 5 14
[1-3] RV Zmrpbe 7=/ tr(19) 10 40
[1-4]7 FF 7 ma b7 ==/l tr(30) 30 100
[1-4-11 27T F—PCBD > H 33 44- T hT7uat 7 x=/L (#77) tr(0.9) 0.4 1.3
[1-4-2] 275 F—PCBD > H 34457 hZ7/nnb 7 ==L (#81) tr(0.1) 0.1 0.3
[1-5] X% 7 mu b7 ==L tr(66) 40 110
[1-5-11 275 F—PCBD 5 H 233 44X % 7mnnt 7 ==/, (#105) 4 1 4
[1-5-2] 27T F—PCBD 5 H 234454 7nab 7 =)L (#114) 0.27 0.09 0.24
[1-5-3]1 27T F—PCBD > H 2,3 44,54 7anb 7 == (#118) tr(10) 5 14
[1-5-4] 27T F—PCBD > H 2 344,524 7nnbt 7 ==/ (#123) tr(0.2) 0.1 0.3
[1-5-5] 27T F—PCBD > H 3,344,547 nnt 7 ==/ (#126) tr(0.1) 0.1 0.3
[1-6] ~FH 7 mr b7 ==L tr(69) 60 180
[1-6-11 2777 F—PCBD H 5 2,33 44,5-~FHh 7ot 7 =L (#156) tr(2) 1 3
[1-6-2] 275 F—PCBD 9 5 23344 5-~FH /o7 ==L (#157) 0.4 0.2 0.4
[1-6-3]1 27T F—PCBD 5 5 2,3 44 55-~FH oo b7 ==L (£167) tr(0.7) 0.4 12
[1-6-4] 27T F—PCBD > L 3,3,44,55-~FHr7aobe” = (#169) nd 0.1 0.3
[1-7]~F 47 mubt 7 =)L nd 60 170
[1-7-11 275 F—PCBD H © 2,2'3,3,44 5-~7 X 77 x=)L (#170) nd 6 17
[1-7-2] 275 F—PCBD 9 © 2,2'3,44' 55-~7F X 7un 7 x=/L (#180) nd 20 50
[1-7-31 277 F—PCBD H 5 2,33 ,44',5,5-~F % /uu b7 x=)L (£189) tr(0.10) 0.07 0.19
[1-8] A7 ¥/ mmr b7 ==V nd 10 40
[1:9] /7 mubE 7 ==/ nd 1 3
[1-10] ¥ HZ v 7 ==L nd 0.4 1.2
[2IHCB (~FH 7o Ey) 52 1 3
[6] DDT#H 89 4.7 ¥OK12
[6-1] p,p'-DDT 30 0.9 2.8
[6-2] p,p'-DDE 20 2 5
[6-3] p,p'-DDD 27 0.5 1.4
[6-4] 0,p'-DDT 35 0.4 1.1
[6-5] 0,p'-DDE tr(1.1) 0.5 12
[6-6] 0,p'-DDD 7.2 0.4 0.9
[7] 7 a7 U3 64 %87 ¥OK25
[7-1] cis-Z7 B LT > 17 2 6
[7-2] trans-Z @2 VT 20 4 11
[7-31AF > 7 aiLs 1.1 0.4 1.0
[7-4] cis-/ 27 v )b 6.5 0.3 0.9
[7-5] trans- / F 2 @ )b 19 2 6
[8] ~7 % 7 v LHE nd 1T X349
[8-11 ~F % 7 m)v tr(0.4) 0.4 1.1
[8-2] cis-~T ¥ 7 )L TRX T K tr(0.6) 0.3 0.8
[8-3] trans-~T7' % 7 B LR F T K nd 1 3
[11-1] a-HCH 5.1 0.8 2.0
[11-2] B-HCH 11 0.8 2.4
[11-3]y-HCH (3% : V> T v) tr(1.6) 0.7 2.0
[11-4] -HCH 2.0 0.5 1.2
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(1217 ersray nd 0.2 0.4
(131 ~FH7oee” ==L nd 0.6 1.5
(4] RV 7T rEYT7 2= —T NV (REEBIDHI0ETOH D) tr(220) %100 %270
[14-117 h 77 BEY T == b2 —T VI nd 2 6
[14-1-1]122'44-T 77 0EY 7 2 =)Lo—F )L (#47) nd 2 6
[142] R ¥ TaEV T = =)L=—7 LI nd 2 5
[14-2-1122'445-X 27 0E®Y 7 2 =)L=—7 /L (#99) nd 2 5
[143] ~FH T BT T 2 =)Lx—F )L nd 2 4
[14-3-1]12,2'4455-~F 7 €Y7 2 =)Lx—7F /)L (#153) nd 2 4
[14-3-2] 2,244 5,6-~F 7 0EY 7 2 =)L—F /)L (#154) nd 0.7 1.7
[14-4] ~T X TRED T 2= —T )L nd 2 4
[14-4-112,2'3,3'4,5,6-~7 4 70 EY 7 x=)L=—F )L (#175) KN nd 2 4
[14-4-2]12,2'3,44'5.6-~FF T 0EY 7 = =)L —5 /L (#183) DAEEHE
[14-51 A2 Z T 0EY 7 == —F )L 28 4 10
[14-6] /F 7 BEY T = =)L T—F )LIH 54 9 24
(147 FHT0EY T 2 =)LT—F )L tr(140) 80 220
[15]~v 7 A udy B Ak (PFOS) 49 2 5
[16] N7 Aty 4 f (PFOA) 21 5 12
[17] Xy %/ maRBr 3.0 0.3 0.9
[19] B U TF AR LAY nd 80 160
nd
nd
[20] NV 7 == A XA nd 30 70
nd
nd
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